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EREIT -EMEZRI-EERT L E X 22 R H AR AR No. 1
Bl =
=N =g =] s
T & & I iﬁ%ﬁf Hh RoE §g§g§% % =2 el
PRP200 PRP200 PRP200 VP125
ERIER
47. 30 33. 80 5. 90 87. 00 87.0m
ERIER
45. 95 31.10 5. 45 82. 50 82.5m
ERER
45.73 30. 65 5. 38 81.75 81.80 m
ERITET
EEEHEH
BHO. 28 91.2 67. 1 11.9 35 173.7 174 nd
BHO. 45 m
BHO. 60 m®
IR IB R A BEREL
BHO. 28 #& A 54.7 44. 4 2.0 101. 1 101 m’
BEREL
BHO. 45 # A m°
BEREL
BHO. 60 # A m®
25 98 3 5B RC40-0
BHO. 28 # A m®
RC40-0
BHO. 45 # A m®
RC40-0
BHO. 60 # A m°
BARAERL RC40-0 123
BHO. 28 #&% A 13.9 10.0 8.5 0.7 33.1 33
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2= Ik = . N o= ot
T = & o |y MR RE Gt % B & A
PRP200 | PRP200 | PRP200  VP125
RAELILE TEM  BHO.28
DT4t L= 2.7 kn 30. 4 17.8 1.9 13 61. 4 61 i | A TR SLBAES
TEM  BHO. 28
DT4t L= 1.0 kn 54, 7 4.4 2.0 1011 101 off |38 L+ 00388
TER  BHO. 60
DTI0t L= i
AL
30. 4 17.8 1.9 13 61. 4 61 i’
EmExT
PRP > 200mm 45. 95 31,10 5. 45 82. 50 82.5n
W $125m 47,3 47,30 1730 |pEmexEusREt L
TEA Py
) T L 21,0 # |4 00m/2
N
BRER -
W=400 L=50m &> 4| 45.73 30, 65 5. 38 81.75 2 %
BRAnT— 7
WE5O L=20m #5%E 5] 45.73 30. 65 5. 38 81.75 5 %
BERT PRER RCA00
BT 16. 20 10.8 19 28,9 29 1t
DR EETRKE
BT 46 0.7 5.3 5 i




TT HEHEE

& B PRP
BKEXKEXRET i ® ¢ 200
G 0.208 m
E o 2.08m
ERIEER 4730 m
EELEER 45 95 m
EHhEER 45 73 m
1 R
0. 050 ENE 0. 040
BREER
(RC40-0) 0.310
* s
A BERETER % o
2. 080
2,030 0. 34
1.322
BE <:Q NV
(::) 0. 408
BB :
| “ Bl
0.9 VP ¢ 125mm
(140)

BT
EE Gl
47.30 X 2 94.6 m
S REEEN T
h EE
0.95 x 47.30 44,9 p?
EERIEHI
= h ER
2.03 x 0.95 x 47.30 91. 2
RRER
= iy EHE SRR
(0.408 x 0.95 — 0.208 "2 x 314 =4 ) x 4573 16. 2 p°
BEREKE
= iy EHE SRR
(0.3 x 0.34 — 0.140 "2 x 314 =4 ) x 4573 4.6
b ELFE
0.34 X 0.34 0.1 m2
A BERETHEER
= ! BEREKE ERE
(( 1.322 x 0.95 ) — 010 )x 47.30 54. 7
AT (W)
B H BR(FEL)
91.2 — b4.7 / 0.90 30. 4
EEBEERE T (As)
5 h EE
0.06 x 0.95 X 47.30 2.2 pd
EERRALIE (As)
= teE
220 x 2.30 b1 t
AR ER (RC40-0)
B h EE
0.31 x 0.95 X 47.30 13.9
REIL
h EE
0.95 X 47.30 44,9 p?
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B g & ¢ 200
A 0.208 m
I 2.14m
ERER 33.80 m
ERER 31.10 m
ERER 30.65 m
8 1 B ; BB
0.05 E3 = 0. 040
REER
(RC40-0) 0.310
A RERETER
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2.090
1.382
0. 408
BAER

0.95

SEYT T
ER Al
33.80 X 2 = 67.6m
SHEREEEY T
h ER
0.95 x 33.80 = 32.1 p?
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E mh ER
209 x 0.9 x 3380 = 67.1n°
o ER
E ! R ERER
(0.408 x 0.95 — 0.208 "2 x 314 =4 ) x 3065 = 10. 8
A BERETER
= ! IR
1.382 x 0.95 x 33.80 = 44 4 ?
A TR ()
B B (REL)
67.1 — 44.4 / 0.90 = 17.8
EEBSEWE T (As)
= M IR
0.0 x 0.95 x 3380 = 1.6
EEBEALIE (As)
£ hE
1.60 x 230 = 3.7 t
BAER (RC40-0)
= M EE
0.31 x 0.95 x 3380 = 10.0 i®
=BT
h ER
0.95 x 3380 = 32.1 p?
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BE g 7 ¢ 200
R 0.208 m
B R 2.18m
ERER 5.90 m
ERER 5. 45 m
ERER 5.38 m
1 B ; ERE
0. 05 = B 0. 05
0. 05 £ E 0. 05
FERET 0.15
i 7 M40 '
BERAEROD 0. 95
2.180 (&E : —B20c mTR)
2.130
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(&5E : —B30c miTF) 0.572
0. 408
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0.95

SEUIMT
EE [l
5,90 X 2 = 11.8m
SR REREEY T
h ER
0.9 x 590 = 5.6 m?
BEIRIEHI
= mh ER
2.13 x 095 x 590 = 11.9
BeRER
= g FHE FRIER
(0408 x 0.95 — 0208 "2 x 314 =4 ) x 538 = 1.9
BERAGEROQ
=S g EE
0.572 x 0.95 Xx 590 = 32
BERAERD
=S mh EE
0.95 X 0.95 x 590 = 5.3
BERAERL (£4)
3.20 + 530 = 8.5 m?
Zed+ IR (L 7)
i Hl R (RELT)
1.9 — 0.0 / 0.90 = 11.9
EBREMT (As)
= mh EE
0.10 X 0.95 x 590 = 0.6
EEBEALIE (As)
= hE
0.60 x 230 = 1.4 t
TERET
h ER
0.9 x 590 = 5.6 m?
HEET
h ER
0.9 x 590 = 5.6 m?
3=
h ER
0.9 x 590 = 5.6 m?
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BEREKE I ¢ 125
BkASHHERRETERLTT & & 0.140 m
H H R 1.600 m
ERILEER 1.50 m
EEER 1.50 m
EHRER 1.50 m
1 B ; ERE
0. 050 E- 0. 040
BRER
(RC40-0) 0.310
+HY
1.360
1.600 A BERETHEER
1.550
0.910
war (), 0.340
BEKEKE
VP 125mm
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EE [l W

1.50 X 2 + 1.5 = 4.5m
SHEREZEENT

h ER

1.50 x 1.80 = 2.3 n?
B REIE HI

=3 oy ER

165 x 1.50 x 1.50 = 3.5
WEE

= g FHE FRIER

(0.3 x 1.50 — 0.140 "2 x 314 =4 ) x 1.50 = 0.7’

A BER4ELTHER

= g ER

0.9 X 1.50 x 1.50 = 2.0
Zed+ IR (L 7)

R BREA

36 —( 20 + ) =0.9 = 1.3
EBFEMT (As)

= mh ER

0.06 X 1.50 x 1.50 = 0.1
EEBEALIE (As)

= hE

0.10 x 230 = 0.2 t
MR E R (RC40-0)

= mh EE

0.31 X 1.50 x 1.50 = 0.7
3=

h ER

1.50 x 1.80 = 2.3 n?
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PRP ©200 ©208
EREE | WREERE ) | WHEERE W | EEEE | EREE BOE M
BARES | WH No M No. ™ g rmm o | ewmiEwm 2| ™ R Y B L e R
a b c d=a-b e=a-b-c f g=aXxf
257-1 1 2 17. 00 0. 45 0. 45 0.90 0.53 0.53 1. 05 16. 10 15. 95 2.18 2. 06 2.12 36. 04
257-1 2 No. 2+30. 3 30. 30 0. 45 0. 45 0.53 0.53 29. 85 29. 78 2. 11 2. 01 2. 06 62. 42
e 47.30 45.95| 45.73 98. 46
THMENE - Yg-va- 98 46 = 4730 = 208 m
+T® B EESECTHENEOE
e WA BN B g
PRP ©200 ©208
EREE | WREERE ) | WHEERE o | BEEE | EREE BOE M
BARES | M No M No. ™ g rmm o | ewmiEwm 2| ™ R Y B L e A
a b c d=a-b e=a-b-c f g=aXxf
257-1 No. 2+30. 3 3 10. 70 0. 45 0. 45 0.53 0.53 10. 25 10. 18 2. 01 2. 09 2. 05 21. 94
257-1 3 4 4.00 0. 45 0. 45 0.90 0.53 0.53 1. 05 3.10 2. 95 2.14 2.14 2.14 8. b6
257-1 4 b5 16. 50 0. 45 0. 45 0.90 0.53 0.53 1. 05 15. 60 15. 45 2.19 2.16 2.18 35. 97
257-1 5 No. b+2. 60 2. 60 0. 45 0. 45 0.53 0.53 2. 15 2. 08 2. 21 2.19 2. 20 h.72
e 33. 80 31.10]  30.65 72.19
THMENE - Yg-va- 7219 = 33.80 = 214 m




+T® B  EESLCTHENEOEE
e WA BN B
PRP 200 ©208
ZREE | WREERE W | WHAEERE W | EEEE | EREE BEE (W
BBES | M No. i~ M No ™ i rmm: o | ewmi w2 | ™ B Y B A oA
a b c d=a-b e=a-b-c f g=aXxf
257-1 No. b+2. 60 |~i BEE%MH 5. 90 0. 45 0. 45 0.53 0.53 h. 45 h. 38 2.19 2.16 2.18 12. 86
e 5. 90 5.45|  5.38 12. 86
THMENE - Yg-Ta- 1286 = 590 = 218 m
+T® BEREAE EES & CTHEEROEH
e WA BN BEREAE
VP o125 140 ASSEBR SRS T
EREE | WREERE M | WHAEERE W | BEEE | EREE BAE (M
BARES | M No. W No. N s T IS L 1Ry T (m) B Y B L A R
a b c d=a-b e=a-b-c f g=aXxf
BEKEERE I~ 1 1. 50 .50 1.50 1. 60 1. 60 1. 60 2. 40
e 1. 50 1.50]  1.50 2 40
THMEME - Ye-va- 2 40 = 150 = 1.60 m




EERABERVEBEEZLEVP 125mm

REREKEHERF

AT ERKER R KER

1/5R=




BEABEERIEEEZILEMHEE @ 125mm EBu
1-F AT R Bify e =
BEIER ® 125 VP-RR m 2L
VP-RREIFLUNA7 (F52) | ¢ 125X 5m X - BEE
VPIL—VIUREE  |¢ 125%4m S 1 vE
VPA VN (H152) $125x90° p:
VPA' VN ([ 5%) ¢ 125x45° V.
VPAUN (i 52) $125%221/2° x :
VPAUN (i 52) ®125x 11 1/4° x
VPA'UN (M1 3%) ®125%5° 5/8 PN 1
VPAUN(F52) ®125x%90° 1&
VPAUN(F52) 125 45° 1&
VPA'UN(F %) $125%221/2° 1& 3
VPA'UN (K 3) ®125x 11 1/4° 1&
VPAUN(F52) $125%x5° 5/8 1& 1
VP SA'UN (@) ¢ 125mm H=300 ¥:N
}j;/ i;jl:rﬂ; ; T ¢ 125 VP X VP @ 2
BRI 2 A $ 125 VP X VP @ 14
ERTTIT |Gk eom m o
EHRY—T m oL <
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EXAEERJIBILEZILERIESR ¢ 125mm B )
1-+ 2 Fh FRAE HE ==K 2 it e
o e | 125 50.5 50.5
BEARJIEEEZILEREMNT WEEODEEMESL m
BERJIBIEEZILE [ROF BRZ 22° 1/2 A 8 8
RR#F ¢ 125
Ak BF2 5° 5/8 & 2 2
o 125
VSoaA Tk 48 2 2
gEpireamE |0 125 4 14 14
i b 125 505 50.5 50.5
ERRTIT |msamn A 5m m
PO 505 - 50.5 50.5
0.2 0.2
FERRILE e Bt 50.5m X 4.5kg/m t
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No.1 VP-RR ¢ 125 50 m/7K

g2 | BuE Z9%E ZE Z9E Z9%E Z9E Z9%E & % Y B BEE
1 4520 0.430 4.950 2 0.050
2 2.560 1.000 0.430 1.000 4.990 4 0.010
3 0.440 0.440 1 4.560
4

5

6

7

8

9
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BK# S &5t VP-RR @ 125mm
= £ JEi o
o E K \VRE | B B | BYIE | ZU¥ |vSPaq ok Bz hoE
N A N N ~ N ) S~ N N N ) S~ N R N
hE| B B JIk= e |VSoaqy VSSaqh 22 1|§2’\/ 5° 5/8R LR 22 1|§2’\/ 5° 5/8RR
VSoa Ak 0.106 0.106 1
ZYUE 1.000 1.000
. oo 0.227
=2, .~
W222° 1/2_UK i 0.454 1
ZUE 0.430 0.430
. o 0.235
=4 ~
B5222° 1/2RR 0981 0.616 1
. oo 0.227
=2, .~
W222° 1/2_UK U 0.454 1
ZYUE 0.430 0.430
BEE222° 1/2 0K 852? 0616 1
AREE 10.000 10.000
HYE 4520 4520
. oo 0.227
=2, .~
W22° 1/2_UK U 0.454 1
ZUE 0.440 0.440
- oo 0.235
=4 ~
B5222° 1/2RR OL981 0.616 1
- oo 0.235
=4 ~
B5222° 1/2RUR OL981 0.616 1
- oo 0.235
=4 ~
B5222° 1/2RR 0981 0.616 1
- . o - 0.090
=4 ~
F35° 5/8AUK 0.235 0.325 1
AREE 25.000 25.000
HYE 2.560 2.560
= o oo Lo 0.081
=4 ~
H525° 5/8RUK e 0.162 1
ZYUE 1.000 1.000
VSoa Ak 0.106 0.106 1
IERET 50.521 4.929 | 35.000] 7.080 | 3.300 0.212 2 3 1 5 1
B 7 10.380 50.521 4 6
AE5m= 2 [ 125 =0 4 ¢ 125 —0O| 17
5 9
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TEMITUA—ILT H 8 X 2R ARR No. 1
=t "
T e e bl H B i
BERR
ANFL#kE i
$ 600/ T-14 5 #8
G
$ 600/ T-25 #8
HEGE
FES 25mmET 3 18
FESD 4dbmmE T 2 18
HEY Y
600- 10cm 5 &
600- 15cm 1 18
B
600« 900- 300 1&
600* 900- 450 5 1@
600« 900- 600 1&
EEE
900- 300 1&
900- 600 1&
900- 900 1&

900- 1200




1B~ R—ILT ¥ 8 X

EEESR No. 2
&t =
T P P 2l s #% 2 & &
BEAR
RETOw o
900- 600 &
900- 900 &
900- 1200 &
900- 1500 5 5 b @
900- 1800 &
JEERR
42 1100 5 5 b 1@
WIr<TvAR—ILT < UIR—ILE
~3. 00mEL R 5 5 5 »nAr
T UR—ILZE
3. 00mEB~4. 00mLA ™ Palziy
I UKR—ILES
4. 00m#8~5. 00mLL T~ il
I UKR—ILES
5. 01mi8 H BT
KT
ZAE 5 5 5 nAT
Palziy
guE 1 1 1 nFT
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ZEERAR No. 3
it g
T & & 1l H 2 B A
BR R
HIFL
VU ¢ 150 &
PRP ¢ 200 5 5 b 1@
b &
Al & SHRF
VU ¢ 150 &
PRP ¢ 200 10 10 10 1@
b &
AFLEERT CoBEILT
¢ 1560 Nl
CoBEEIIT
¢ 200 7 AT
BIERET SElE
150-150 m Nl
SElE
200-150 m Nsil
NelE
200-150 m Nsil
X 6 ERE il XKmsHbktr 52—
#HE L= 7.8 km 5 5 475 kg |95kg/1#8
WIS R4 BEW XKmsHbktr 52—
#®E L= 5 5 475 kg |95kg/1#8
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20 AR AR
No, 1
JE X R
A P2 m i T & HiN | ANALEE | ARSE | ALY & BE [l B Rk TOw "
) = | | v w | e f
x = - 7® mF) z
B (m) (m) (m) (m) W T-14|7-25( 25| 45| 10 | 15| 30 | 45 | 60 | 30 | 60 | 90 | 120 | 150 | 180 | 60 | 90 | 120 | 150 | 180
H1  |H1+0. 05 H2 7 H3
NO, 1 2.02 | 2.07 0.20 | 0.54 [ 1 1 1 1 1 2050
NO, 2 2.00 | 205 ] 0.05 | 0.20 [ 0.59 | 1 1 1 1 1 2050
NO, 3 2.04 | 209 | 0.05 [ 0.20 [ 0.59 | 1 1 1 1 1 2050
NO, 4 2.08 | 2131 0.05 [ 0.20 [ 0.59 | 1 1 1 1 1 2100
NO, 5 210 | 22151 0.05 [ 0.20 | 0.59 | 1 1 2 1 1 2150
1.20 - 3.00
3.01 - 4.00
&3t
4.01 - 5.00
5.01- 5 3| 2|5 1 5 5




153 yA—L BHI - HIF  ATESMEF - EHT HEBHES EERM

1R No, 1
SR A& SHEF B & T _
A 7 E O T B & = & T
A A (RAER) (RHEAER) (TR ABER) w =
il
= PN _— VU | PRP VU | PRP VU | PRP HNEIE | AEIE  NEIE
= e | | o
= I T 150 | 200 150 | 200 150 | 200 150-150 | 200-150| 200-150
NO, 1 1 1 1
NO, 2 1 1 1 2
NO, 3 1 1 1 2
NO, 4 1 1 1 2
NO, 5 1 1 1 2
BEE% 1 1 1 1
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M X % B I % 2 X
it El
BIKEKE . - BXAR
T oW | oW o | xmET | FROORE ) g 5 2 A
+T@ +T® +T® +T@
EHMRITEELY
SR T 94. 6 67. 6 11.8 4.5 178.5 179 m
1/}
SR RIEAI T 44.9 32.1 5.6 2.3 84.9 85 m’
1/}
EEEMRT A s B 2.2 1.6 0.6 0.1 4.5 5m
FEREALIE A s i 10. 4 10 t |4.5x2.3t/m3
EWMERIGFEEZELY
®EI ZHEAs t=  4dcm 44.9 32.1 2.3 79.3 79 m’
(=3 "
RET JAAIEAs t=  5cm 5.6 5.6 6 m’
(=3 "
EET MEIEAs t= 5 oom 5.6 5.6 6 m’
(=3 "
FERET BIFRA t= 15 cm 5.6 5.6 6 m’
1/}
REET .
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T 8B I 8 E X
No,1
g -1
T A A RIEKE wp RE | RRAEAE “ R &
THHRAIR
2.08 2.14 2.18 1.60 - 211 m |MMEFEHE
=KIEHIR
218 2.21 219 1.60 - 221 m |mKIE
ITRBREELER
47.30 33.80 5.90 1.50 88.50 89 m
BTAHBHLE H=3.0m
BAT BHO0.28 47.30 33.80 5.90 1.50 88.50 89 m
H,=<4.0m
BHO0.45 m
H=6.0m
BHO0.80 m
BETAABESLTE
5l3RT 47.30 33.80 5.90 1.50 88.50 89 m
A ER
HABHS TBEK L= 150 m 250 250 2.50 2.00 - - m
U mEE
62.40 64.20 65.40 48.00 - - m? | IR R RS ER*2mE
HABRH
108 6.9 1.1 0.3 - - =]
A ER
EEEEREE TEHK L= 150 m 2.50 25 m
iLFEI%
5.9 5 [g]
A EHE
198.90 198.90 m?
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T 1@ 1@ 1l = i)

ET
m X ER X (RES-HEE) X 2HF7

HHIT INBELT T .0 x 1.0 » (1.5-0.1) = 2 2.8 3 m3

RELTHER Sl 2.8 3 m3
m X @\ X 2HFr

SHEURT 1.0 * 4 x 2 8.0 8 m
m X EE X #HEE X 24

HERRT 1.0 « 1.0 * 0.1 =* 2 0.2 0.2 m3

BEMEBEHRT As R _E 0.2 0.2 m3
2 X k&E

BEdtAniE As 0.2 * 2.3 0.5 0.5t
m X EE X 2HFF

RET BAHNE20 1.0 x 1.0 * 2 2.0 2 m2




